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Évaluation en langue d’origine (CYCLE III) : Géorgien 
 
 

Bonjour ! Hello ! 
Buon giorno ! Buenos dias ! 
… 
… 

ahfyuekb tyf vcjakbjib 
 
 xdtyb gkfytnf lqtcltj,bs 6 vbkbjy vw[jdht,c bsdkbc, hjvtkbw lff[kjt,bs 200 
cf[tkvobajcf lf mdt.fyfib w[jdhj,c. fv mdt.ybc vw[jdht,yb c[dflfc[df tyfpt 
kfgfhfrj,ty. fhct,j,c hfvjltybvt fcj,bs tyf. pjubths vfsufyc v[jkjl hfvjltybvt 
fsfcj,bs vw[jdht,b kfgfhfrj,c. byukbcehb tyf .dtkfpt ufvj.tyt,flb tyff 
cfthsfijhbcj dfzhj,bcfsdbc, vfuhfv xbyeh tyfc .dtkfpt vtnfl kfgfhfrj,ty 
vcjakbjib. 200 vbkbjypt vtnb flfvbfyb b.tyt,c ahfyuek tyfc .jdtklqbeh 
w[jdht,fib; 60 vbkbjyb cfahfyutsib lf lfyfhxtyb rb c[df mdt.yt,ib, hjujhbwff 
,tkubf, idtbwfhbf, rfyflf lf fahbrbc pjubthsb mdt.yt,b. 
 
 
 
ahfyuekb crjkf 
  cfahfyutsib crjkf cfdfklt,ekjf 16 okfvlt. ,fdidt,b ]th lfo.t,bs crjkfib 

cofdkj,ty, itvltu rjkt]ib lf ,jkjc kbwtevib ufyfuhUj,ty cofdkfc. cf,fdidj ,fqb, 
hjvtkbw 6 okfvlt fcfrbc ,fdidt,c bqt,c, fh fhbc cfdfklt,ekj, vfuhfv bc fvpflt,c 
,fdidt,c lfo.t,bsb crjkbcfsdbc lf cfcehdtkbf hjv .dtkf vij,tkvf vbb.dfyjc idbkb. 
lfo.t,bs crjkfib ,fdidb cfaeUdkbfy wjlyfc bUtyc, rthUjl cofdkj,c rbs[dfc, othfc 
lf lfsdkfc, fctdt cofdkj,c ew[j tyfc, vwbhtjlty byasjhvfnbrfc lf c[dfc. 
fvbnjv cfzbhjf, ,fdidb b.jc ,t]bsb lf geymnefkehb. hjltcfw vjcofdkt ufrdtsbkc 
fwltyc, dfklt,ekbf, vij,kbc vbth lfvjovt,ekb wyj,f ofhflubyjc. 
.jdtk crjkfib nfhlt,f 5 ufrdtsbkb, hjvtkbw 5 c[dflfc[df cathjc ittcf,fvt,f. 
vfufkbsbc cf[bs uftwfybs 8 okbc fcfrbc ,fdidbc cfcofdkj w[hbkc: 
 
 
 

jhif,fsb    
08-30 

10-00 
10-20 

ahfyuekb 
vfstvfnbrf 
                    i  t c  d  t  y  t , f 
 
 
vfstvfnbrf 

 rbs[df 

  
rbs[df 

 
03-00 
03-20 

04-30 

 
utjuhfabf 
     i t c d t y t , f 

 
 

                   c f l b k b c 

cfvif,fsb 
ahfyuekb 

vfstvfnbrf 

vfstvfnbrf 

 rbs[df 

       i t c d t y t , f 

 
           

bcnjhbf 

   rbs[df 
i t c d t y t , f 

 

[esif,fsb 
ahfyuekb 

      vfstvfnbrf 

 
 vfstvfnbrf 

 

gfhfcrtdb 
ahfyuekb 

vfstvfnbrf 

 

vfstvfnbrf 

 11-30 
01-30 

,eyt,f 
byajhvfnbrf 

 
  

,eyt,f 

wehdf 

gjtpbf 

 
v[tldtkj,fib bmjybts itvltub ybdst,b lf nfycfwvtkb : 
 
fepbcfsdbc : cfwehfj rjcnevb, cfwehfj melb, gbhcf[jwb. 
abpfqphlbcfsdbc : vjrkt ifhdfkb, lf,fk.tkbfyb rtnt,b fy 
,jnfct,b. 
cflbkbcfsdbc vjbnfyts r,bkbc xjsmb lf gbhcf[jwb. 
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egfce[t itrbs[dt,c lf itvj[fpt cojhb gfce[b 
 

1.hjvtk tyfc kfgfhfrj,ty .dtkfpt vtnfl vcjakbjib ? 

ahfyuekc.  
 byukbcehc. 

xbyehc. 
 

2.ahfyuek tyfc v[jkjl cfahfyutsib kfgfhfrj,ty ? 
  

lbf[. 
 fhf. 
 

3.fhbc se fhf crjkf cfdfklt,ekj 4 okbc ,fdidbcfsdbc ? 

lbf[. 
 fhf. 
 

4.w[hbkbc vb[tldbs hfvlty [fyc uhUtklt,f sbsjtekb itcdtyt,f ? 

40 oesb. 

30 oesb. 

20 oesb. 

5.rdbhbc hjvtk lqtc fh fhbc rbs[dbc ufrdtsbkb ? 

jhif,fsc. 
 
cfvif,fsc. 
 [esif,fsc. 
 
gfhfcrtdc. 
 

6. hjvtk lqtc tdfkt,fs ,fdidt,c cfwehfj rjcnevbcf lf gbhcf[jwbc vjnfyf ? 
 

jhif,fsc. 
 
cfvif,fsc. 
 [esif,fsc. 
 
gfhfcrtdc. 
 

…../ 2 + ….. /2 + ..…/ 2 = …../ 6 

…/ 2 + …/ 2 + …/ 2 = …/6 


